SA-2 [CLASS-VIII) ' I
SUBJECT : ENGLISH

Time : 3 hrs . MM : BOD
General Instructions !

i/ Read the questions carefully.

iit Number the answers as given in the quesiion paper.

ill Write the answers in a neat and clear handuriting.

iv)] Write the answers in complete sentences. !

al.

SECTION-A (READING)
Read the passage given below and answer the questions that Tollow : (7}

It is important to keep a level head at all times. However, there are two occaslons
when keeping a level head 13 absolutely necessary - when we achleve a big suceess
and when we make a bad faflure. An sxceptional success usnally inflates our egn
and makes us boasiful; 8 miserable failure Glls us with dejection and makes life
meaningless, Both these sxperiences are common in student life. A brilliant
performance in one examination turns one’s head while a dismal resuli in another
makes one feel as I ihis were the end of the world. Both these reactions are equally
flawed. Superlority complsx & as deplarahle as inferiority complex,

To be successful in life, one should be in total control of oneself, one shonld remain
unmoved both by the ups and downs of lile. For, he who gels broken by a stroke of
bad luck is equally lilely to get beoken by a run of good luck o, Nu progress is
possible in either case.

How can one keep a level head? 1f our value system s correct, we will not gel casily
atrayed In life. If a2 husinessman giver greater importance (o health, character, a
happy family and friendship than to money, he will not lose his head if be suddenly
turns rich or if there is & slump in business and his income suddenly goes down
Similarly, If a student’s focus s on dcquiring knowledge, or on personality
development. he would be able to achicve success by malniaining balance.

We should also remember that nothing 18 permanent in this world. Nedther sond
lortune will keep smiling at us nor bad luck keep hounding us all the time. Hoth

prosperity and adversity are bound to pass. to be swallowed by a shadowy past.
Why then rejoice in one and grieve at the other?

[a) On what two cocasions Is It most important o malniain one'’s balance? (1)

() Whal are the usual consequences of an exceplionully good performance or »
very bad result? (2]

[l  What should be a student's attitude towards his studies? (1
(dl  What great réality of life cun help us to remain cool in all situations? (1)
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(e} Complete the fallowing sentence - (1)
In order (o be suceessful in life, | _

(  Find the words from the passage thal mean the same as the l'uuuw[n;! :F[za.%:.'fl
il poor. hopelese -
(i} asudden fall in sales, prices -

Read the poem given below and answer the questions that follow - (]

Be a leader

Al times when the values

Of others seem hollow.,

Make sure that you're ready
To lead and not fallow,

It's not easy

Ta challenge the crowd,
Or stick Lo your views
When opponents are loud.

But sometimes a group
Tendds to lose its direction.
And goes down a path
That requires correction.

Though opting for change
Leaves you open o scorn,
Don't stand undecided
Divided or torn.

You're merely respecting
Companions and rends,
By searching for wisdom
When commaon sense ends,

5o if your group needs
Eciter alms ta pursue,
Your guldance can furnish
‘The right thing to do,

When actions of athers
Aren't apt to succeed,
Don't give in and follow

Step forward and lead.
{(al  What becomes difficult when your nppmmiln are lboud? (4]
() How should you react when people arsund you are scornful? ()
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Q3.

Q.

Q5.

() What should be your stand when you find the actions of others inappropriate?
(1)

) Complete the following sentences [2x1=3)

(1 This poem is all about being a
(i) The message conveyed through the given poem is
)  Find words from the poem that mean the same as the given words/ phrases -
M rdicule () supply or provide (ZxA=1)
SECTION-B (WRITING) L
Write a letier to the Editor of an English duily newspaper about the harm that i
caused to the environment with the use of plastic bags and plastic cups. 15
As Aman Mahajan, Prefect of Clase VI of your school, draft a notice for your school
notice board requesting all the students to donate money, clothes and old books for

the poor shudents of your city. (3
lead the given telephonic conversatlon and wriie down the message in about 60
words. (1)
Suraj :  Hello! May I speak to Rita Maam? 1 am her student. Swaj Malhotra

of class VII-A,

Mr. Anwar :  I'm alrald, shes not at home. She has gone 1o the market. Can | rake
the message for her?

Suraj > Okay. tell her that | won't be able (o give the class test tomorrow
because | have to go to the hospital with my mother. My mother {5 o
heart patient and 1 don't want her to go alone. | am reacdy to give the
test the day after.

Mr. Anwar @ [l (ell her, Anything else?
Surn) . No. thank you, Sir.
Mr. Anwar ;. O.K. Byel
SECTION-C (GRAMMAR)
Rewrile the sentences glven below as directed - (2x1=2)
lal  Anjull published this book in Singapare. [Passive volce)
()  The rooms have been decorated by the children. (Active valee)

Replace the incorrectly used prepositions with correct prepositions and rewrite the
complete sentence : [AxLe=7)

(a) The house under the pelrol pump s on gals.

b}  Rahul is tired with working so hard.

fc) In case to bad weather, we will cancel the niecting,
(d) Wil you take the dog to the vet at Thursday.
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(8. Change the speech and rewrile the sentences : [2x =2
() Aman said. "1 am planning o visit my hometown™. o
) He told me that he had checked L nSwer.

Q9. Fill in the blanks with the correct modduls . (4x¥=2)
{al A computer make thess lengthy caleulations in len seconids.
(bl You put in real hardwork i you want 1o do well.
(@) Mr. Sharma suggested that Inak for another job, ¢
(d) If the skin is pricked with blade, 1t bleed.

10, Join the given pairs of sentences by using sultable conjunctions (2x1=2)

fa] | pressed the bulton. Water gushed out of the tap.
b It was o very expensive dress. She immediately decided to buy 1L

011. Underline the adjectives in Lhe diven senlences and make abstract nouns from those
adjectives {3x1=4)
[a)  All the answers given by the students were sHlisfactory.
bl Sana of our school is highly ambitious.
¢} The performance given by the band was fascinating.

g12. Replace (hie underlined words with adverbs and rewrdte the sentences 1 (2x1=2)
{fal  The children took part in the Tree Fantation Drive with lot of enthusiasm.
bl The teacher advised the students to do cverything with great love.

@13, Fill in the blanks with relative pronouns [Axih=12)
fa) 1 would like to buy the pink dress has a rose al the waist.
(h)  This is the gardner looks after the garden all the year round,
] Sheis the new dance teacher they have appointed.
fd} The boyv hag was stolen 1s absent today.

gl4. Fill in the blanks with correct form of verts glven in hrackels . (G2

| {have) a dream last night. Taccldentally | {eullide) with a witch,
She (geflangryand ______ (lurn} meinioa frog. The dream
(irghten) me and | (wake) up with a loud shriek.
SECTION-D (LITERATURE]
@15, Read the extracts glven below and answer the questions that follow (B3x1=3)

jA)  “He felt the cheering power of spring.

It made him whistle, it made him sing;

His heart was mirthiul (o exeess,

Aut the Rover's mirih was wickedness.”

{al  Who is referred Lo os he' In e above lines?
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(b] Describe the weather in the given lines?
)  Why is 'he' deseribed as 3 wicked person?

[-I"'Il “Thal was a turning point in our friendship. Although we shared the same
roam, she no longer came to school with me.” (Ax1=3)

fal Who does the word ‘we’ refer to in the above lines?
(h) What brought a turning point in their friendship?
(e} Why coukln't she accompany the nareator to his schoaol?

18, Answer the following questions in 30-40 words each : (Zx2=4]
(a) Mukul Sharma believed n the spirit of lafr play and healthy competition.
Comment.

bl What wers the two speclal oceasions which were celebrated by the church
bells in the lesson "Candles at Midnight™?

{317, Answer the following questions in 30-40 words each (2x2=4)
(Al What theme is conveyed through the poem The Cold Within™

b} In the poem, ‘Incheape Rock' The Abbol of Aberbrothok was blessed by the
mariners at the sea. Why?

Q18. Answer the given question in 80- 100 words each : i5)
Hve a brief deseription of Jimmy's journey from being a eriminal to a saviour,
OR

‘Candles at Midnight' is a heart touching story of a litlle boy, Costas, who belongded
o a poor family. vet managed to fulfil his long awalted dream by using his presence
of mind. What was his dream and how did he Tulfil it?

{115, Answer the given question in 30-40 words : (2

‘0ld habiis die hard’ is a proverb that holds true '-|'ii.'h Private Quelch. Wriie the
Incldenl to suppert the above statement.

{220. Answer {he given question in 70-80 words : {4)

What mistake did the Frofessor commit during Turnhull’s lecture and how did he
have to pay for it in the end?

OR
The poem. ‘Dallodils’ by Willlam Wordsworth conveys a beautiful message. Elaborate.,
Q21. Answer the ollowing question in 30-40 worrds 3
Why did the Time Travellsr take the camera when he went on his next journcy?
22, Answer the following question in B0-100 words : (5)
How did the Time Traveller find his time machins?
. OR
Describe the Palace of Green Porcelain.
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S8A-2 [CLASS-VIII] 202016
SUBJECT : MATHEMATICS

Time : 3 hra MM : 80
General Instructions :

1)
i)
iii)
iv)
v)
vi)

O1.
Q2.
Q3.

Q4

Q5.

Qe.
Q7.

Q8.

Q9.

All questions are compulsory.

Read all questions very carefully.

Questions 1 to 10 carry 1 mark each.

Questions 11 to 18 carry 2 marks each.
Questions 19 Lo 28 carry 3 marks each.
Questions 28 to 34 carry 4 marks each.

Name the vertical line which passes through origin.
Find the value of 67 + B,

Identify the coefficient in -3xy.

If 2x5 is a multiple of 3. then find the value of x.

If x and y vary directly, find the missing entry in the
glven table.

X 2 r

¥ 5 &l
Give an example of a binoméal,
Stmplify and write the answer in Lthe exponential form:
)
i il
794 of 258 students are good In mathematles. Find
the number of siudents who are good in mathematics.
Find the volume of a cube whose edge Is 4 cm.

-

Q10. Find the perimeter of the given figure.

(1



@11. Findl the volume of & enboidal box whose dimensions
are 2a%, Syx and 7z,

7x s
Q12. Find and correct the error in ';‘.3—]-" =l+1=2

Q13. Divya got an increase of 109 in her salagy. ITthe salary
alter iicrease 1= 26,653,500 then find her salary before
the increase.

Q14. In the following, identily the cazes of direct and inverse
proportion.

(@) The number of paper sheets and their weights,
(bl For building a wall, the number of hours and
number of workers,

Q15. What are the possible values of ¥ il 2v34 1= a multiple
of 97

Q16. Find the area of the given quadrilateral,

]

Bior

PR
|

(417, Factorize and then divide -
9a%b? (3a - 24)  27ab [a - §)

(418, Express :
(a) 0.0000021 in the standard form.
(b} 3.5 % 107 in usual form,

{19, Find the value of variables A, B and Cin

[a) B 1 (b A
+ 1 A I
A B = T B

12




Q21
Q22

@23,

Q24

Q25.

Q26.

garT.

Q28.

. Simplify using identities :

(a) 983%-17¢
)  fx+2) [x+5)
Construct a square of side 5.5 cm,

The radius of a cylindrical pipe is 14m and fis height
is 2m. Find the cost of painting the curved surlace
area of the pipe ot the rate of T 5 per m?

Faclorise .

fa) Zxy+2y+JIx+3

(b} m?+ l4m + 45

Find the coordinates of P, 0 and Q in the given ligure,

Kebir bought a second hand T-V. for ¥ 2,500 then spent
? 500 on Its repair and sold it for ¥ 3.300. Find his
loss or gain pereent.

A floor tile has the shape of a parallelogram whosc
hase is 18 cm and the corresponding height is 10 em.
How many such tiles are required to cover a rectangular
floor of length 900 em and breadth §00 em?

A man can pack 260 bundles in 5 days. How many
bundles can he pack in 7 days?

Construct a parallelogram PQRS where PQ = fiem,
QR = 7em, £P = 60° and £Q = 120°,

i3



{(28. Show that (¥p - 3)* = (7p + 3)¢ - 84p
030, 1200 persons can finish the construction of a bull*ng
in 40 days. =

lm) 17400 persons were employed for some other work.
Hew long would the construetion of the butlding
take now?

[bl How many persons would be needed to finish
the construction in 30 days?
{d31. The following table gives the quantity of petrol and
its cosg ;

Petrol {in litres) o 10 15 20
Cost of petrol (in )| 500 GO0 00 1200

(a) Plot a graph to show the data,
[b)  Use the above graph to find the cost of 7.5 litres
of petrol.
{432. (a) Find x so that -8+ ! x [-8* = [-8)7
(8] Evaluate: B + 82
{933, Construct a quadrilateral PORS where PG = 4cm,
QR = Gem, RS = Som. PS = 5.53¢m and diagonal
PR = 7cm. Also write the steps of construction.
f334. (@) A person wants to invest T 10,000 in fixed deposit
scheme for 1 year. His financial advisor explained
him two type of schemes first i yielding interest
al the rate of 10% p.a. compounded annually,
second s ylelding Interest at the rate of 10%
p-a. compounded half yearly. Find the interest
in each case.
[(b) Why is investment important for future life?

(4)



SA-2 (CLASS-VIIN) 2/2016
SURIECT : INTEGRATED SCIENCE

';hl.me : 2'5 hours MM : 5O
General Ingtructions :
i This paper consisis of three sections A, B and C.
ii) Marks are indicated against each question.
iii) Draw neat and well labelled dicgrams wherever
required.
SECTION-A [PHYSICS)
@1. Answer in one word or one sentence : (1x5=5]
[a) If Rohan is 18 years old. how many times hag he
gome around the sun?
(bl Vinegar Is a sour liquid, State giving reason whether
vinegar conducts slectricity or nod.
[c) X forms a transparent bulge on the front surface
of the eye ball. What is X'?
()  Name the planet which Is less denser Lhun waler.
(e Give one word for the decomposition of electralyte,
Q2. Answer briefly : (2x4=5)
(a] What is the [ull form of LED? Why {s LED a betler
option for testing conduction of cleciriclly?
() What is the difference between a [ull moon and a
new moon day?
(c)  Identify the following in o

L W W . 6L N
the given figure | E #

() Incident ray
fii}  Reflacted ray
(i) XY

v} ON

(1



(el

In case of a fire, before using water hoses, why do
fremen shut off the main electric supply of the a:‘.::‘?

Q3. Answer the following : (Ax=1)

(a)

A student makes a device 'F' by using three long

and narrow strips of plane mirrors Inclined at 60°

to one another which enables him to see beautitul

patterns.

(1) ldentify ‘P

() State the principle on which ‘" works,

(i) Name any other deviee which works on the
same principle.

(b  Which effect of eleciric current is utilised for dstecting
the flow of current through a salutlon :
(il when a thin layer of chromium metal is
deposited on an iron tap?
{ll} whenacompass needle is used?
i1} whena torch bulb is used?
el (Il Whatiseataract? How can the vislon of & person
having calaracl be restored?
)  Why can night birds see clearly in night but
not during the day?
04,  Answer Lthe [ollowing [Sx1=5)

X' 15 & group of stars which is visible during Lthe summer
season in the north direction in sarly part of the night. It
resembles a howl with a handle or a guestion mark.

i)

(48]
(4d1)

What i= the general name of groups of stars like
X7

Write any two names of "X

How many bright stars are usually observed in "X'?

(2]




i

ol

(vl Which famous star can be located In Lhe sky with

the help of X'? Show with the help of a ciagram.
SECTION-B (CHEMISTRY)

Answer in one word or one sentences - (1x5=5)

(a)

)

The ‘odd-even drive’ by the Delhi government io
reduce air pollution exempted CNG vehicles, Why
is CNG considered a better fuel than petrol and dieser?
Xand Y are two greenhouse gases which contribute
towards greenhouse effect. Identify X and Y.

(e} Define calorific vahae of a fuel.

(d) Coal. petroleum and natural gas cannot be prepared
in the laboratory. Give reason.

fe]  As coal contains mainly carbon, the slow process
of ite formation Is called

Answer briefly : (2x4=8)

[a) Classily the following as exhaustible and
inexhaustible natural resources :
sunlight, air, minerals, coal

(b} In India, the Petroleum Conservation Research
Assaciation (PCRA) advises people how to save petrol/
diesel while driving. List any two Hips suggested by
PCRA.

e} Differentiate batween spontanesus and rapld
combustion. Give one example of cach.

{d) - The students of a public school in Dellii. started a

campalgn to help clean the Yamuna river. The
sludents of class VII visited the area along the river
once in 15 days and collected garbage present thars
and put it in big dustbing. They alss enlightened
the people who lived along the bank about the (1
effects of water pollution and the ways [0 reduce [t

(3]




[l State any two causes of water pollution other

Lhamn throwing garbage in rivers. v
(i) Which value s shown by (he students of class -
VIIe
@3. Answer the following :  3ae9) X
(a)  Study the table carelully and mm 2
that follow
Building A Building B Huflding C E:. ,
* Paper | * Pet » electrical
* Wand
* Cloth -~
* Non-metals
In case fire lres the above bulldings A. B )
and C which & e extinguisher would you
prefertousein; R i
() Bulkdinga

) Bullding B
() Buliding ©
(] ﬂiﬂ'.'ma.wn for your chnlcenfﬂmuuw

other industries.

(4)



(e} What is relining of petroleum? Glve one use of ench
of the follewing constituents of petroleumn :
(i}  Bilumen i)  Paalfinwax
(i) Petrol livi LPG

(4. Answer the following : 5]

(a) Drawa neat and well labelled diagram of a candle
Name showing the following zones -
() zoneof complete eombustion
) zoneof partial combustion
(1) zone of no combustion’
Ml Sncha wanted to heat waler in a heaker, in which
zone of the camde flame should she place her heakier?
[c) Wishnu went to hls native village where he saw his
grandfather trying to ignite wet logs of wood, He
suggested to dry the logs befors burning as wel loos
of wood have a high ignition temperature.
(ij  What |s ignition temperaturc?
[l List two other conditions which are required
for burning to take place.

SECTION-C (BIOLOGY)

Q1. Answer in one word ar ane sentence cach (Lxd=4]

'ﬂi. !;qum m by & hard ehell whereas
28 *ﬁhm protecicd by a Jelly. Justify.

(b Complete the given analogy -
plough ; tlling = : sowing = sickle

¢} Xisthe transformation of larva irio an adult trough
drastie changes. Identify X. Name the hormone
responsible for X in frogs. _

{dl A person has a very bif and hulging throat. Name
the deficiency disease he 1s suffering from. Which
gland is affected by the disease?

(5)




) Suate another function of the adrenal glands

(1) Name the master gland thal
agrenals to secrele the hormore.

()

stimulates



—

——

) Complete the following table
L Miodern Irrigation | Strociure Arean L 15
avsiem eniiable for
(i) Drip System —— F |
-
R - perpendicules pipes | Rl_—
with rolating | R
nnTzles o WP
(e] M Awoman started ovulation al age 13 years
and stopped al age 48 years. What was her
ade al Menopause and her age at menarche?

(51) Onsetof menetrual cyche isone of the secondary
sexual characlers in females during
adolescence, List any two other secondary
sexual characters that develop In adolescents
at puberiy.

@4. Answer the following: (5]
fa) Lock at (e diagram given Balow and answer the
following questions -
&
iy

() Name the process represented by the above
diagram and statells importance ln humans.

() Ideatify Pand Q.

(i) The above process rerulls in the formation af
zygote, Stale one difference belween zygote
and emhbryo.

) Differenttate hetween oviparous and viviparous

animals gIving examples.

(7
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Roll No.: Date: Class : VIIT Section _sﬂ l ;
' SURJIECT : SCIENCE (MULTIPLE CHOICE QUESTIONS)
Time : 30 minutes M.M. : 15
General Instructions
(i) Attempt all questions.
(i) There are 15 multiple choice guestions in total. Only one of the options in
every guestion is correct, Put a (] against the correct option.
ftit Each question carries 1 mark.
(i) Do not use white fluid on these sheets.
ful Use only pen to mark the answers.
(1. Name the device used to split white light inlo seven colours.

(al Kaleidoscope (bl Periscope
(] Prism (d] Flane mirror
(}2. When electric current is passexl through water, the gases produced are
(@) only hydrogen (b)  only oxygen
[¢] hydrogen and ozone {dl hydrogen and oxygen
33. Which of the following is a non-electrabyte?
(a) distilled waler [(b]  lemon julee
(¢ =all solution [d}] tap watler
Q4. The distances between the various celesilal objects are usually expressed in the
unit :
(a) kilomeires (b)  lght minutes
(e} light years (dl lght seconds

5%, The angle between an ncldent ray and the normal is 30°, The total angle hefween
the incident ray and reflected ray will be -

a) WP by 60°
(¢} B0° d) 120°
Q6. Which of the following equation corresponds to incomplete combustion?
fal Fuel + oxygen - carbondloxide + waler + heal
(B}  Fuel + carbondioxide = oxygen + waler + heal
(e} Fuel + oxygen - carbonmonoxide + water + heat
Bl Fuel + carbonmonoxdde = oooypen + waler + heal

c-1



Q7. Identify the substance which is not combustible from the ones given below :

(al paper bl stone
i) LPG (] wax
Rohan, Sakshum, Rohit and Abhay made the following water filters A, D, C, D

respectively.

Who amongst them made the correct water filter?
(a) Rohan (b) Abhay
fc) Saksham () Rohit

Q9. Inanexperiment, 3 kg of a lucl was complelely burnt. The heat energy produced
was measured to be 270,000 KJ. What is the calorific value of the lucl?

(a] 90000 Kd/kg (b] BO.000 KJ/ kg
fe] 45000 KJ/kg [dl 58.000 KuJ/keg
Q10. Rachit set up the following experiment under the guidance of his teacher :
"-'- )
W e B
T e

He observed that cup ‘A’ catches fire easily however cup ‘B’ does not caich fire.
Hls teacher rxplalmwl the abhservation as ¢

(@) Paper is an inflammable substance while water is not.

(b}  Incup B, the heat 1= conducted to water so the ignition tempersture of the
paper is not reached.

(c) Water has a lower ignition temperature than paper,
i} Cup A has more air than cup B which helps in combustion.

(C-2)



ol11.

Qla.

@13.

To select healthy seede for sowing, the teacher performed the following activity in
the class

She concluded that -

(@) sexds B are healthy and A are Infected,
()  seeds A are healthy and B are infected,
{c)  bolh seeds A and seeds B are healthy.
{d) both seeds A and seeds B are infected.
Study the graph showing percentage of height with age in bovs and girls,
r
-
3 L}
T B Boy
as}
}: ! s Gurls
™
578 % e mm mis e o X

e Tegurs

Age

The graph ghows that -

{a) initinlly girls grow faster than boys

(b) both boys and gl reach thelr maximum helght by about 1% years.
{cd  initially boys grow faster than girls.

i) both {a) and (b)

Name the methed of reproduction shown by the organism given below :
fal binary fission

(k) fragmentation :

i} budding

{dl wvegetative propagation o —p

(C-3)



@14, ldentify the organiam shown i the dlagram (Refer to .13)
{n) amotha bl yeast
[ spirogyra ([d hydra

[Q15. A student perfonmed an experiment le compare ihe growth of seadlings usind
soil. soil + vermicompost. soil + urea, soil + farmyard manure. After 10 days the

seedlings showed the growth as shown in the figures given helow :

ETy

Which pot do you think contained soil + urea?
fal A bl B
e) C d D

(C-4)



BA-2 (CLASS-VII) a52016
SUBRJECT : S8OCIAL SCIENCE

Time : 3 hrs MM : 80
General Instructions :

i

it

iit)

iv)
v

wi)
vii)

Read all the questions carefully and number the
answers dccording to the guestions.

Multiple choice question is to be answered in the
answer sheet only.

Write all the answers in neat and lagible
handwriting.

Attempt all the questions.

Write complete sentences for question numbers 2
and 3.

Attach the maps properly to the main sheet.
Questions carrying 3 marks should be answered
within 63-80 words.

viii)] Questions carrying 5 marks should be ansiwered

gl.

within 80-100 words.
Each question has four oplions out of which anly one
is correct. Choose the correct option and write it in
the answer sheet. (1x7=T)
li) ‘He was Lthe first governor general of Independent

India', Ideniily him,

la) Mahatma Gandhi

ih) Maulana Azad

f¢) Sardar Vallabhbhal Patel

() €. Rajagopalachari
il _______ was the place where Satyagraha was

started in support of Indigo peasants.

fa] Champaran (6] Sabarmati

e] Bengal {d} Amritsar

(i '



Q2.

WHy ... city in Hrazil has achieved univer al
access to safe drinking water, 3
(@) Sao Paulo b} Belem
(e} Curitiba (d] Porin Alegre

liv] Who cannol avall reservations in independent
India?
(a} Brahmins b))  Adivasis
(c) Dalits () Backward Castes

(v) ‘This Act hanned the children under the age of
14 years from working as domestic servanls',
Which Act i= it?

[a)] Recognition of Forest Act
(b) Child Labour Prevention Act
(e} both (@) and (b)

(d) National Food Securily Act

(vi] ‘It is a process In which metals are extracted

~ from their ores by heating bevond the melting
point'. Identify it.
(a) Extractlon {b) Quarrying
(¢} Drilling (d) Smelting
is also known as '‘Golden Fibre'.
(a] Cotton (b} Tea
(e]  Jute (dl Coffee
Answer the lollowing questions in one sentence each:
(1x10=10)

(vii)

(]  Desfine ‘mixed economy’.

(i) Namg the Indian revolutionary who gave the slogan
of "Inguilab Zindabad',

(it} ‘Periyar was unhappy with the congress and Jaft
it'. Why?

(2)




{iv] Siate Article 15 of the Indian Constitution.
fvl What do you understand by the term ‘Public
Facilities'?
fvi) State any one provision provided by the
government to promoete soctal justies among Dalits
and Adivasis,
(vii] What is meant by the term ‘Life Expectancy™
[viii] “This place is known as the Manchester of Japan’.
[dentify L.
(ix) Mention any two factors affecting the cultivation
of crops in an area.
{x) Which is the most populated country in the world?
@3. Give any three reasons why English language continued
to be used in [ndia after independence. (3)
Q4. Why did Gandhifi choose to break the salt law? (3]
Q5. Elaborate the role played by women to eradicale social
evils from the soclely in the 19th eentury. (31
(6. What advantages do the foreign companies have in
setting up their production units in India? (3
Q7. Enlist the steps taken by the government Lo conserve
water and ensure its supply. (3]
(8. How is the 1969 Act important to the Adivasis? (3]
(9. “The social, cultural and economic factors are the causes
for uneven distribution of population in the weorld
Disr11ss, k|
@ 10. Distinguish betweeen small scale and large scale
indusiry. (3
11. Briefly explain the concept of Agricultural Development.
(3]
{12, ‘Assam is the leading producer of this crop in India’.
[dentify it and write e geographical conditions required
for its growth, (1+2=3)

&



Q13. (@ Explaln any two fealures ol the hHI_r n
Constitution. :
(b} “The constilution demarcates the powers of the
central and the state government through three
lists’. Discuss. [2+3=5]
(14, List any five social reformers and discuss their
contributions In uplifting the siatus of Indlans in the
18th eentury. (5]
015. What iz Reservation Policy? Brielly explain ils working.
{l+d2=3|
16, Differentiate between commercial and subslsience
farming. (5]
@17.(a] Which industry is known as “feeder industy'?
(b) Classify industries on the basis of ownership.
(1+4=0]
Q18. Attempl the following maps :
[a] ©On the provided political map of India, name
and mark the following : [1xd4=4)
[iy Province which got divided in 1505,
(il Populareity tn Punjab rich in cotton textiles.
(ifl] State where Bhilai steel plant was set up.
(iv] Place where salt law was broken.
(b) On the provided political map of the World, name
and mark the following : {1x4=4)
(1) Manchester of Indla )
[tf] Sparsely populated country
filil Largest freshwater lake
liv] A leading producer of rice

()




Time : 3 hrs

General Instructions |

Read all the questions very carefully.

Number the answers as given in the question paper.

Write in neat and clear handwriting.

Write the answers in complete sentences.
SECTION-A [COMPREHENSION ECRITE|

(i
(i)
fiii)

fiv) .

Al

Lizez :

5A-2 (CLASS-VIL) /2016
SURJECT : FRENCH
MM : 80

Dans la calétéria de [&cole

Les Lrois amies Marie, Fauline et Sophie discutent de lew
dernier week-end.

Marie

Sophie

Marie

Pauline
Marle

Pauline :

Marie

: Tu as I' air trés heureuse aujourd hul.

Pourguod?

: Mol, | o passé un wesk-and magnifique. Mes

parents et moi, nous sommes alles a la plage
pour falre toul ce que je veux,

* (est formidable! Et mei. j'ui [ait beaucoup

fde shopping avec manan.

. Trés bien! (u'est-ce que tu as achetd?
: Jal pris un mantean grig, un chapeau nolr el

une robe rouge. EL Lol Pauline? Quiest-ce que
tu as fait?
J'ui rendu visite A mes grands-parents a la
campagne.

: Tu as une grande [umille, N'est-ce pas?
Pauline :

Oul, bien sir! Ma famille sat aussi trés gentille.
J'al heaucoup joué avee mes cousins la-bas,

Un autre ami Denis rejoint les (rols amics.

Marle
Niend=

Fauline :

: Salut Denis! Tu ¢s en retard, Pourquol?
- J'al £t& chee moi avec mon cousin Jean. Naue

avons décord la malson,
Pourqual? Pour quelle cocasion?

(1)



All

Al.2

Al3

Denis  : Clest mon anniversairs demain'

Faullne : Amuse-tof hen! o
Cochez el éerivez la bonne réponse ; rim=4:=
(@l La ramille de Saplile est allée 4 Ia plage _
il hier M) Je wesk-end derpjer
(Bl *Nous avons décoré 1a Maison.” Qul a décore Ia
miadsony
(l  les amis Ml Denis et Jean
e} Marie a acheté un SRR e
i)  chapeau () jupe
Id)  Pauline a rendu visite 4 ses P
lil amis ) grands-parents
DMtes Vraf oy Faux - (1x3=3)

W Pauline a jout aver ses amis,
() Marie a fuit bBeaucoup de shopping.
(i)  Saphie a pases un week-end magoifigue.

Trouvez le coniraire dy texts ; (+4x2=1]
() petitesn (1) blane &
Lisez :

Demain, ¢'est I'anniversaire de Paul. C'est la récré eg g
lovile see amis cheg Jul pour féter san anniversaire,

Paul : Salut! Cest mon anmuversatre demain. Je veuy
Inviter mes amis pour Ia o,

Valtrie : Super! A quelle heure esi-ce que la fate
COMMIMERca?

Paul  : Laféte commence & 6 heures du soir.

Denis : Est-re quil y & des aclivités aussi?

Faul | Oy, Ny a beaucoup d* activiles, Nous pouvons
chanter. danser et jouer aussi, Soyez i Theure,
&'il vous plait.

Le jour de I' anniversaire

Paul et son pére décorent g malson avee des guirlandes

cl des ballons. Tous les amis vienpent. La mere de Paul

Prépare un gateau au chocolat pour tous. Il y a beancoup

(2)




A2.1

A2.2

& aulres plats délcieux, Paul coupe le filer. 11 ear trés
content. Son pere met de 1o musique. Paul el ses amiz
commencent & danser. Ils jouent & des jeux vidéos ef ils
regardent des dessins-animeés. Quelle surprisel Papa donpe
un vélo i Paul comme cadeau dunniversaire. Paul mentre
s0m v&lo & tous ses amis. Le soir, il recolt beaucoup de
cadeanx, Vralment! C'est un Jowr funtastique pour Paul,
Répondez - (1x2=2}
] Qu'est-ce que Paul recoit comme cadeay?

M Qu'est-ce que les qunls font pendant la fele de Paul?

Cochez st derivez la bonne réponse ; (1xd=4)

(@l Jedécore la malson avec des . [anniversaire/
guirlandes/ repas)

(k)  Paul regoit beavcoup de . ("ateanx,
chapeaux/cadeaus)

(c) Lafdte commenced  dy ealy {6 heures/5
henres/7 heures)

(d]  Paul et ses amis commencant & - (chanter/
danser/jouer)

Donnez I'infinitif du verhe, [VxR=1)

Al esl = (b)  prépare —
SECTION-B [EXPRESSION ECRITE)

Vous allez chez volre ami pour inviler volre ami A velr un

[limn. 1l west pas la Alors, vous laissez un message. Redigez
le message (20-30 mots), I5)

Metter le dinlogue en ordre (%)
Lapatiente : Non, je 0" ai pas faim,

Ledocteur  © Vous travaillez beaucoyp?

La patiente  : Dacteur, je ne sans pas blen, Je suis

irés fatigude.

Ledocleur @ Est-ge que vous mangez bien?

La patiente  : Mareg beaucoup,

Ledocteur @ Ce n'est pas grave. Je vous donne des
vilamines.

La patiente Ohil, e trovaille beaveoup en o moment.

()




B3. Regardez les images ¢t répondez : [2%x2=5)

(f) GQu'sst-ce que cest?
(i) Od e trouve-t-il7?

e o N, 1'1 ]
(1) Quelmagasin ast-{I?
(] Que peut-on achater de ca magasin?

B4. Eoriver les ustensiles e les ingrédients pour faire la recelle

de crépes. 1]
SECTION-C (GRAMMAIRE)
Cl. Choisissez la honne reponse : (ax10=5)
) Est-ce qu'il [a achetd/a achétd) une robe pour s
femme?

[iid  (As-tu pris/As-iu prendu) ton bus hier?

[iii] 1 [a=s falt/a [ail) ce repas.

(iv) Vous (aver vols/aves vu) ce bon [ilm?

(W]  Tu (as conduiz/as condult) la voilure,

(W) Nous (avons pouvi/avons pu) compléter le devolr.
(vif) Mon frére (a dormi/a dormit] jusqu’ 4 onze heures.
(vit) I8 (sont venu/sont venus] hier.

(4}




ca.-

3.
C4.

C5.

CH.

C7.

CH.

Clo.

{ix}  Elle {esi reiournée/est retourng)] chez Paul.

(x] Jelsuls sorl/suis sortd) par la fenétre.

Metlez les phrases a l'lmperatif. (1x5=5)

{i)  Tuarrives tard chez hil.

{ii} Vous ne prenez pas de photos dans le musée,

(iii) Vous Afes conrageux.

livl Nous nous conchons 16t

(v}  Turemplis le questionnaire.

Conjuguez le verbe ‘finir’ an passé compose, [}

Conjuguez les verbes pronominaux au passé composs,
(1x3=3)

i)y Tu (ne pas se laver],

(M} Nous___  [se promener) dans le parc.

(il Est-ce que vous (se réveiller] & Theure?

Donnez le participe passé des verbes suivants. (Yix6=3)

) mettre (i) aller

(1) halre (iv] écouter

e (vi}  pleuvair

Retrouvez les phrases. (1x%3=3)

(0 avee/jouer feopains /T /mes/aime.

(il  préparer/Tu/dois/examen/ton/pour.

() amis/dans /Nos /uns/rsvisnnsnt /heurs.

Corrigez la faute, [1x2mZ)
(] Neva pas chez ta amie aujowrd !

(] Nous jouss du ski avec nos soeurs,

Meitez les phrases sulvanies au passe compose. (1x2=2)
() 1l ne parle a personne dans la classe.

(tfy Vous n"allez nulle part.

Chassaz I' intrus. {1x2=2)
{1}  parlsr, finir, mourir, avolr

i} Japon, Angleterre, Espagne. Londres

Ecrivez le contraire. (1x2=2
[l Ccommencer s i) détesterw

(&



D1.

D2.

D4,

SECTION-D (LA CULTURE ET LA CIVILISATTON)
Dires Vral ou Faux : (1y==5)
(Ml I nefaot pas fwdicr pour réussir, b

(i) Ny aplus de 400 sortes de [romages en France.

(i) La Basilique de Fourvidre est une helle edlise de
Notre Dune.

(ivl  Leducation ' a pas d'importance.
[v)  Lafamille Lavigne part pour Lyon.

Cochez la bonne réponse ; [1x5=5)
[t} est la capltale de la houte coutupe,

(a) Lyon bl Pars

(€] Marseille

(11) cn France joue un rale important.
(@  I'industrie de sole

(b)  I'industrie atrospatiale

¢  I'industrie automobile

() Les frangals sont experts dans la fabrication des

(A) wins ) parfums

el  fromages
liv) Le plus vite des trains [rangais est
(a) L'omnibus b Le TGV
i) LeRER
v 8t Un pays francophone,
(3  LaBelglque b] L’ Angleterre
[c] L' Inde
Répondez : (1+2=3)

il Quiest né? Comment s"appelle l'enfant?
() Quels sont les repas frangais?

Reliez les colonnes. (Mexdm)
(il  La tour Eiffel (3l  un repas familial

() Lesétudianis ] enfer

(i) Le cricket [ I ¥ ) [

(v} le diner fd) le stacle

i6)
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5A-2 (CLASS-VII) {2016

SUBJECT : COMPUTER SCIENCE
Time : 2 hra MM : 50
@1. Choose the correct apilon and write it in the answer
sheet: (Gx1=G)

il  Shoricut key combination used to go to the specific
record in datasheet view.

(a) AllL+F8 (b) Alt + F5
e} Alt+F4 (dl Alt+FB
(i} Teon that indicates the edit mode in Access.
la) Eraser (k) Pen
[¢] Pencil idl Arrow

(i) It is a collection of ficlds and display all the
information about a single entity.

[a) Record () Cell

[c) Table ([dl Data
livi Attribute used with <OL> tag

la] Src (b) Start

fc] align [d) Theight

[v] Choose the correct command
(@) <IMG SRC = “Images.jpg >
(b) <IMG href = *A.html™>
le) <A Src = "Abc.html™>
(d) <ULtype="A">
fvi)] Maximum number of characters that can be used
to defline a field name

(a) 46 (b} B2
ic] &4 idl 54

(1



Q2.

Q3.

Q4.

Qs.

Answer the following in one word or one sentenee ;

[BxT=8)
il Standard filenmne extension for database in MS-
Access,
[ii} HKey used to move to the next column In a table
in Acoess,

(iff)]  Maximum number of characters that can be stored
in "Memo' datatype.

(iv] Tagused to define a table row in HTML.

v} Itisa highlighted text or image that stores the
address of some other webpage or a document
to be linked.

W) Default bullet type for <UL> tag,

[viil Attribute used for setting the background colour

of a row.

(vitl) It is used to display selected data in a printable
format,

Answer the following : (5x3=15)

()  What is table? Write its significance in ETML.
() Explain any three features of MS-Access.
(it What is a query? What are its different types/

categories?
[ivi Describe the views in which ‘FORMS' can be
displayed.
]  How will you sort the data within a table?
Define the following (3x2=6)
(i) Templates
() Text dataiype in M5-Access
(i1} Primary Key
State the difference between : (2x3=6)

[l  OLE and hyperlink datatypes in MS-Access
i} Cell padding and Cell spacing
2



" o= Write HTML program for the given outpul screen :

g (7l

Incredible India _OX
FESTIVALS OF INDIA
Na Feslivals

¢ Independence Day

« Gandhi Jayanti

»  Republic Day
Religious Festivals

[ij Holi

fii} Diwall

(iif) Christmas

Motes :

() Give proper title.

[ii] The sentence FESTIVALS OF INDIA should seroll
with slide behaviour.

(il The terms “National Festivals' and ‘Religious
Festivals' should be underlined.

{iv] Use appropriate lists as shown in the output
SCTEEn.

Q7. (a) Shreyawants toquit Microsoft Access after saving
a database by using shortcut keys, which key
combination will you suggest her Lo use? (1)

(b) TCS Company hasa huge database of employees.
The company wants to maintain the privacy of
each employee and has given instructions to

computer operators Lo update each record one
al o time. Which database object should be used

to perform this task? (1)

()
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Q 1. Fill in the blanks: (1x5=5)
i) Edinburgh a city known for its cultural festivals, is the capital of ...
i) Moscow, the most populous Russian city, lies on the......oooeoe. river,
{1 i e st A in England is a circle of huge stones each weighing about 25
tonnes
W) e, 18 the oldest surviving dance form of India.
v) remmssnssnesnass [$ thE system of medicine that originated in India.
( 2. Chose the correct option : {1x5=5)
i) wennmsnnnnn 15 INAia"s oldest oll refinery .
a)Mumbai High b)Dighol c)Kalol d)Ankaleshwar
i) Appalachian mountains lie in ... continent :
a)Australia b)Europe ¢)Asia d)MNorth America

) AJAR s USES radio waves to detect the direction and range
of an approaching plane.

a)Odometer bjlactometer ¢)Radar d)Photometer
V) e 1S the classical dance of Assam.
a)sattriya * b)Chhau c)Bharatnatyam d)Kathak
vl  Itis the hame to eight of the tallest mountain peaks in the wayld.
a)China b)MNepal c)Mexico d)Argentina
Q 3. Answer the following in one word : [1x5=5)

i) The Great Barrier Reef is one of its many natural wonders.

ii) What does RTI stand for?

lii)  The venue for India’s first Farmula 1 race in 2011,



iv)]: The plrlu-! where India’s first nuclear test was conducted

v ThE 13"‘" Premdent ::nl' !m:ha Fadma 'u'lhhuﬂmn dw;!rdee

Q4. CURRENT AFFAIRS : {1:~:5=5]I

i) United Nations completed 70 years of its establishment on..

)t = - e e becarne first Indian to win ‘.-.llwzr Mr.'dal at
Archery World Cup on 25" October 2015,

|11 S ey ..became World's fastest stock exchange
wlth i medlan response trme uf & micro seconds.

iv) e ... overtook USA in terms of population of
mlddle class and becamﬂ Wﬂrld s largest country,

v) e DECAME first ever Indian to win five medals

at Tatwan Eup Et]l fc-r wclmg



